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2. If 2y + e¥ = e, then the value of y' at x
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The sum of all value(s) of ¢ satisfying the conclusion of the Mean Value Theorem
for the function
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- then an equation of the oblique (slant) asymptote for the
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Using Newton’s Method to approximate one root of the equation x4
find that if z) = 1, then x, =
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9. The hnear approximation of €% 4t 4 = ) is

a) L4

by I +ex . 0y o7
¢) L+ L8 .

d) e+ x

e) &1 Fun %
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10. The most antiderivative of f(x) = (r + DRz —1)is
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13, The number of tangent lines to the curve y = tanr — cot .r?;;h;u; are parallel to the
line y=dr+3is ’

14. Let f be the function f(x) = { . ; -
then f/(1)

: %‘Mﬁﬁ% %5%% — \ 3
a) does not exist , - ' -
ot}
b) equals 4
¢) equals — 4 3 . -
) Uil b gﬁ;é = =\
d) equals1 .

e) equals — 1
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< 0.1 whenever () < ]I + 3

< 0 then the largest possible § is

i, Y g = {
(3-2x)}(3¢2x) 1 P BT R
Srax :

b) 0.033

¢ 0.025
d) 0.2

e} 0.4

16. The position of a particle is given by the equation
. . A
f)f::j(t)m‘é&lﬂ(»;)s 0<t<4

when is the particle speeding up?

a) 1<t<2and3 <t<4
by 0<t<land3<t<4 o N2
¢) 0<t<2and3 <t <4 &géi‘éi:; ;Méfﬁag Sial
d)y 2<t<3

e) 1l<t<3
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7. The slope of the tangent line to the graph of tanh(r +y) + reost
(0,0) is equal to

I8. The absolute maxinwmm of f(x) = r + - in [0.2,4] is
x
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e N 65%%
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dy 10
s f(e) > 16

I _ 11
20. The graph of f(x) =1+ ~ + —
x o x?

a) has one local minimum and is increasing on (—=2,0)
b) has two local maximum and is increasing on (0, 00)
¢) has no local maximum and is decreasing on (—2,0)
) has one local maxinum and one local minimum

e) is increasing on (—oc, —2) and is decreasing on (2, 00).
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23, A rectangle has its base on the r-axis and its upper two vertices on the parabola

y = 12 — r*. What is the largest area the rectangle can have?

e

a) one horizontal and one vertical asymptotes

. il
b) one horizontal andfvertical asymptotes
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no vertical asymptotes

two horizontal asymptotes

no horizontal aysmptotes
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Which of the following statements is true

95, Consider the function f(z) = =

about the graph of [

I
%ﬁé = ‘i“w
A
a) The graph has one inflection point only. s
h) The graph has two inflection points. é
¢) The graph is concaving downward on (3,00)
d) The graph is concaving upward on (—oc,0)
e) The graph has no inflection points.

96. A tank in the shape of a right circular cylinder is being filled with water. The
radius of the base is 3 meters. If the water is being pumped into the tank at a rate
of 2m? /min, then the water level is rising at the rate of (in meter per minute).

iy 1
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27, Tl feos(20)]'" = 7 -
A st A ] R 5
2 { ) I é,/ % g &
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98. A right triangle whose hypotenuse is V3 m long is revolved about one of its legs to

generate a right circular cone. Find the volume of the cone of greatest volume that
can be made this way.
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